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' SUMMATIVE ASSESSMENT — I, 2014 |
 SCIENCE |

‘Time Allowed : 3 hours Maximum Marks : 90 |

- General Instructions : .
-1. The question paper comprises of two Sections, A and B. You &e{o
~ attempt both the sections. _
‘2 All questions e compulsary i
3. All questions of Section-A ==d all questions of Section-B are <0 be
| attempied Scparateiy. z

¢ Question sumbers 1 10 3 in Section-A are one mark guestions. These
are to be snswered @ one word o in ope sentence

s Question number=4 to 6 in Sections-A are two marks questions. These

are 10 be answesed in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks quesuous

These are to be answered in about S0 words.each

7. Question numbers 19 to 24 in Section-A are five marks questions.
¢ These are to be answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions |
. based on practical skills. Each question is a one mark question. You |
. are to select one most appropriate respoase out of the Four provided <0 |
Poyou

9. Questmnnumbers%io%mSecﬂu—quuesﬁmﬂsbasedw

-skills are two marks questions.
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SECTION-A

' i
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i How is a cartilage diffierent from a bone 7 = lis

2 If aballoon fikked with air and ifs mouth untied, the air is released From s |
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- Imouth in the ﬁﬁwnward direction, and balloon moves upwards Identlfy‘ i
action and reacfion in this case. ‘

{.3) ‘Give an examgle of 2 motion in which acceleration is non — uniform. |1

‘{\4:) State the se sepamuen téchmque used for the separatlon of the followmg 1 i 2'

\(60 Ammoninm chloride from a mixture containing sodivm chloride aud
- ammonium chloride ‘WJ“' )
"(®) Copper sulphate from its solution in water. "..n*f'&t{\

5 “W_hai—dm—yéum tand by the tenh ‘membrane biogenesis; - i .2

6 Deﬁnéﬂg?ravnm' sional constant. State its SI unit. State the value of ,2
gravitational constant (G) on the earth. :

T 1 "~ (@ The room temperature s 25§C "What is the correspondmg I3
temperature on the Kelvin scale ?

@)‘ Give the zeason for the existence of the three states of matter.

i
i
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5 1l il Bacaor dos o-soliin caieri I Ao 3

@ What would be ‘observed when a saturated solutlon of potassmm
chloride at GOQC is allowed to cool at room temperature ? ‘

(c) Name the process involved in squeezing out water from wet clothes

lin | washing machme
-.1 <
(9 Describe an actmty to show that pa.rtlcles of matter have spaces between 3

them.
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10 Complete the following flow diagram: BT
Plant Tissues
]
x .
Egﬁs_temaﬁc’ﬁssui[ =Y
Agic : | Sve | [ o |
< Parenchyma Xylem £
{ Collenchyma | e
;_:llfl' Correlate the fust pair of words given below and accordingly imsert a . 3
" suitable word in the second pa1r
(@) Heart: Cardiac muscles : stw x4/ : Smooth muscles
(b) Tissue repair : Areolar : Insulatlon \
'(¢) Squamous epithelium : Protection : : _ ¢ |, \rid : Absorption and .
- secretion. Clling M
12 Define the term uniform acceleration. Give one example of umformly 3
"accelerated _motion. —_— i
A bus decreases its speed from 721@nhUlt054kthI inss. Fmdthe
acceleration of the bus. :
~ (13) Which law of motion can best describe the following : | 3

a) Force applied while pulling a lawn mower.
©) Shoulder bone fracture from recoil of a gun. oy
¢) Coin remains on the table, when table cloth is suddenly removed. ]
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\:z_i;: “What are the effeetsof fhe{*oilowmg on meﬁ-xa of a- body‘5 . 3

R e

f a) If force is doubled
! b) I density is halved
i <) If weight is reduced by three times.

5 A body of mzss 19 kg is movmg o with & vclomty of 1 msll Find (1) The 13
Ima,cgnmlde of the force required to stop the body in 10 s. (ii) the distance
i the body will move through before coming to rest. 2 _
\lRahul while domg skatmg moves along a number line in the alphabencal 3
\ /f order (A, B 0N D .., G) and finally stops at ‘G’.

A?”F"G“%F”?

i —4-3-2-16 1 2 3 4
! Meters

(a) Calculate the distance travelled by him.
(b) Find his average velocity if he covers each mefre in 1 s. %

17 {India is a country with three fourth of the population engaged in | 3
agriculture. Even though financial conditions of some farmers do allow | |
them to take higher level farming practices and improved agriculture
technology, yet they are hesitant to use of HYV seeds with traits such as
resistance fo disease and pests, high quality that would results finally in

{ higher yield.
{i) What is meant by genetically modified crops ?

; .(u) What are the desired agronomic characters for fodder and cereal
crops ? ;
{m) in your opinion what should .be done so that the modern agnculmﬁ:
teobnologyis adopted’ bymostofthefanners 7 i

Differentiate between ‘captuse fishery and culture fishery. How ﬁs ' 3 @
productmcanbemmasedmmanneca;ﬂwefmhems?_ .
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19 | (i) Conwvert the following temperature into Kelvin scale -~ |5
{a) 100°C {) 23°C L) 20°C
ﬁl(_u,) Write physical state of water at : } |
[ (@) 25°C ®) 0°C
20 (é}) Compare ‘meials and nonmetals based on their {)ily_smalﬁpmpe'ﬁes roperties 15
| (any four points).
‘ (b) What are metalloids. Give two examples.
é(c) Identify metals from the following — bOf'O{\i, . sodium, mercury, | i
 carbon. -~ W L
21 | Answer the followings : == Is
{(@) Name the constituents of phloem tissues. 5
(b) Write the specific function of cardiac muscle.
(&) State two differences between tendon and Tigameat.
(d) Name the tissue that :
(i) forms of inner lining of our mouth. €
i )
f (i) forms the soft-parts of leaf, stem, 1oots and fruit.
;ﬁ(c) Write one function of adipose tissues.
s . —z i
22 (@) ‘Prove that if the earth attracts two bodies placed at the same distance | S ;
f from the centre of carth, with equal force; theﬂﬁlelrmassesmllbe
|~ the same
;[\({)) c) ‘ expres'a the acce}efatmn due to gravity that is
b = % i:fee falling object.
1 () Why is ‘G’ oalledaumvemalconstant‘?
1—?' :- e |
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26 "‘ Bcfore fcstmg starch in different food ‘materials like Rice, potatoes et 1 !

( f(c) heterogeneity is there

\.‘\’ 3

3 TGivereason: 0 T T T T 5
{a) Value of “g” is not constant on earth. ;|
{@®) Objects w:& different masses take same time to fall from a ﬁxed
f height. - .

§(c’) ‘G’ sknown as gravitational constant.

24 | Descn"be the 1type of loss caused by mappropnale conditions of moxsture 5 | .
and temperature prevailing during storage of grains. '

' SECTION - B

25 . A student added two drops of conc hydrochloric acid to adulterated dal in- ol
test tube A. Another student added a little sample to conc. hydrochlonc
-acid in test tube B. They would observe.

(a) appearance of pink colour in any test A
i (b) no change of colour in any test tube
'{c) appearance of pink colour in test fube B

{ (d) appearance of pink colour in test tubes A and B

|

they should be cmshed so that :

1
7 ; (@) enough sample i is there
) homogeneity is there

(d) testis positive

27 ] For the formation of iron sulphlde from iron ﬁlmgs ‘the component taken 1

.._L e e
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[ m excess is ' [
. [(aron (®) sulphur
{c) carbon disulphide (d) sulphur dioxide

9 A small amount of mixture of iron ﬁlmgs and sulphur is taken in a wetch 1
| glass and a bar magnet is rolled over it. b

Iron filings
i and
, sulphur powder
The substance ‘A’ sticking to the magnet in the above figure is :
:{a) sulphur —('b')/ iron filings
\ (c) iron sulphide (d) complete mixture

:29 Crystals of copper sulphate are heated they turn white. This colour change 1
1s due to : A :
‘ (a); loss of copper ions n s
@) loss of sulphate jons
~1(c) decomposition of copper sulphate

; (d) loss of water afesystallisation g

130 1 A student used a red stain for mountmg a i)eel of onion. This czrresponds 7= |

‘1o the strain N

(a) Acetocarmine "/ (b) Methylene blue

((c) Safranin _ pn#y€. () Iodine : |
3 Select the incorrect statement for striated muscles: 1

.f (a) show alternate light and dark bands
’ (b) undergo rapid contractions

(1:{ get tired and need rest
AJ = y e e
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(d) Are mvo{mtary

P32 A mixture contains ‘only ] Iodme Ammomum chloride and Sa;:_d,_ Only
: lodine and Ammonium chloride subhme Only lodine dissolves in carbon |
tetra chloride. —— ;
How will you separate the three components ? Sequence of steps will be '

{a) By sublimation addition_of CCl, ‘
q bﬂ_))/’/TAddmon of CCL,, filtration, sublimation ,
..{€) Sublimation, addition of H,O, filtration. 1
1(d) evaporation, distillation, crystallization

33 i’roperty of a body by virtue of which it oppoges; any change in state 1sril ;

called : _ : &
I.=(a) Momentum (b) Energy
l(c) Inertia (d) Acceleration |
34 | State the method by Wthh ‘we can prepare cpllo:d of starch. & 2
R M - | g LIE K
: 35 In an expenment to determme the berh;:rg ﬁom‘t of wafer State reason for 2 i
the followmg adia Clwd d Wy  Clen e~ =

- | (a)—Pumiee-stope-picces are—addgd_tmmm beaker,
(b) A glass stirrer is used.

3% | A teacher soaked 10g raisins in 35ml of distilled water in a beaker A and {2 |
similar amount in beaker B. She maintained the temperature of beaker A at: |
_ 20°C and beaker B at 40°C. After an hour cempase the percentage of water
;absorbedbythermsms in beakers A and B.
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